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LIFE SCIENCE
Paper II

Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— This question paper contains fifty (50) questions with multiple choice

answers. Each question carries two (2) marks. Attempt all questions.

s 8 Which of the following can be used to select the entire document ?
(A) Ctrl + A
(B) Alt + F5
(C) Shift + A
(D) Ctrl + K

2. What do you understand by “booting” ?
(A) The process of starting of computer from the power off position
(B) Connecting the computer to the electric switch

(C) Increasing the memory of the computer

(D) The process of shut down the coinputer
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Sta s
LERELER
w1 W . . (g @ 100
e : 39 WRE-U9 § U= (50) TEOHedd U § | TOF W & of (2) 3% ¥ | Wt
T ® W IIfed |

1. R TEEY F T A 6 fau e § 8 shw s oS wwa € 2
(A) Ctrl + A
(B) Alt + F5
(C) Shift + A
(D) Ctrl + K
2. “gfen" | v wHEA T 2
(A) fasielt o€ =1 feufd @ g & &@ 1 9iH
(B) s =i fagga faw @ A &
(C) F=gR & Wi F1 FgH
(D) Wﬁéﬁ'fmaﬁm
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3. Which types of charts can excel produce ?

(A) Line graphs and pie charts only

(B) Only line graphs

(C) Bar charts, line graphs and pie charts

(D) Bar charts and line graphs only

4. Which of the following will save your data when computer is turned off ?
(A) RAM (B) Motherboard
(C) Secondary Storage Device (D) Primary Storage Device

5. What does Ctrl + = key effect ?

(A) Superscript (B) Subécript

(C) All Caps . (D) Shadow

T.B.C. : 03/17/ET—II 4



3. f#9 ¥R & 9° 3399 ¥ (Excel) 991 ¥Fhd § ?
(A)i‘@maﬂ'{m’éaﬁmA
(B) ohael g @
(C)Wﬂé,mmaﬂ'{'qﬁﬂﬁ
(D) =R =R 3R Y@ UF FHac
4, HE we 2 W few fofy g7 data =T W owea & 2
@ (B) WewrE
(C) Wbl ¥R feard (D) Al RS fearw
5. Ctrl + = key &1 31 399 a1 § ?
A) gxfere (B) wafere

(C) |t (D) B
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6. You accidently erased a record in the sheet. What command can be used to

restore it immediately ?

(A) Insert (B) Copy
(C) Replace (D) Undo

3 Which of the following is not an example of web browser ?
(A) Safari (B) Google Chrome
(C) Internet Explorer (D) Avast

8. A cookie :

(A) Stores the password of the user

(B) Stores information about the user’s web activity

(C) Stores the commands used by the user

(D) Stores software developed by the user

T.B.C. : 03/17/ET—I1 6



6. MR ol | Yie H ww Rl fia fgm @ gl sww ¢ & fau fRw sy

1 I S wEar § 2
(A) gfmfad | (B) ity
(C) =ga (D)‘{JEIH

7. frafafed § ¥ S99 99 98] H TF ISR W@ 2 2

(A) HHH (B) Google %™
(C) T W (D) @R
8. T FHl

(A) SYERHRG & THEE H ©R HC ¢

(B) 3IUENTRGl &t 99 Tfafafd & R H ©R FH AEHN

| (©) T <EW S R W e SRE H S s d
(D) SUErRal @R fawiga WREam #1 Hufed w1 €
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9. What is full form of PDF ?

(A) Partial Data File ! (B) Portable Data Format

(C) Portable Document-Format (D) Portable Document File
10. Coenocytes are formed :

(A) By fusion of uninucleate cells

(B) - When nuclear devisions. are not followed by cytokinesis

(C) Transfer of nuclei to a cell by surrounding cells

(D) By fusion of adjacent cells

11. A pattern of floral organization in which the sepals, petals and stamens are

attached to the receptacle above the ovary is known as :
(A) Epistagy (B) Epigyny

(C) Hypogyny _ (D) Hypostagy

T.B.C. : 03/17/ET—II 8



9. UIEIUE F W ®I FT ¥ ?
(A) v 22 T (B) UREd S WEY
(C) UREE TEEY wWEd (D) desd THEY wEH
10.  Coenocytes &1 7T &d 2@l & ?
(A) Uninucleate FIf¥riefi & woraw &
(B)mmumﬁmﬁ%mm%
() m#maﬁm@aﬁaﬁmmm
(D) EY™E HI HFHRT F a7 9
11. WWW@WWM,WWWm%ﬁﬁﬁ@
¥ 2 B T, Feew ©
(A) Epistagy | | (B) Epigyny

(C) Hypogyny (D) Hypostagy
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12. A flower is said to be actinomorphic when it can be divided into :
(A) two unequal halves

(B) two exactly equal halves by any vertical section passing through the

centre
" (C) two halves having equa.l number of sepals, petals and stamens
(D) two ha‘lves having apocarpous ovary
13. Obligate biotrophs are pathogens that :
(A) Grow in a living tissue. (B) Grow in artificial culture
(C) Do not require oxygen (D) Grow in the soil
'14. Botulism is caused by species of :
(A) Bacillus | (B) Pseudomonas

(C) Agrobacterium (D) Clostridium

T.B.C. : 03/17/ET—II 10



12. @@@WWW%W@%MMWW%:
(A) & FEHH e
(B) g o WeAH | SRA A fFE off SR sigum gaw S SUsk §EH 9
(C) w9H FEl, gSl 3R YR 9t ) fewdl
(D) whEdY sfenm oo 4 few
13, R TERE AT
(A) T Sifgd Fa®w H Wed € (B) FOW Ul A wed €
(C) ifrfis =t sEwasal & ¢ (D) fugt & =gq ¥
14, FfEfdee w1 gonfadl (Botulism) 3 HROT B ©
@ é@w (B) T

(C) wiEFIRgw D) Fdifeam
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15. Movement of dissolved substances from the base of the stem to its apex, is

known as :
(A) Apipetal (B) Basipetai
(C) Acripetal (D) Acropetal

16. Tomato fruit is a :
(A) Pepo (B) Berry
(C) Pome (D) Drupe
17. During DNA replication, DNA polymerase III corrects replication errors by :
(A) 5 -3 eanuclease activity (B) 3' - 5' exonuclease activity
(C) & -.3' endonuclease activity (D) 3' - 5' endonuclease activity

18. Stomata that are surrounded by cells, which are indistinguishable from other

epidermal cells are termed as :
(A) anisocytic (B) anomocytic

(C) actinocytic (D) paracytic

T.B.C. : 03/17/ET—II 12



15.

16.

17.

18.

mﬁwaﬁ%ﬁaﬁﬁwﬁmwmwm% ?
(A) Apipetal (B) Basipet;al

(C) Acripetal (D) Acropetal

THIX 1 FA TH T ¢

(A) Pepo (B) =

(C) 9™ (D) D_rupe

itAu wfasfa & M, e Gty 11 sarn wfasfa g & 58 3% &t
€ 2

(A) 5' - 3 wHgfIus Tfafafy gr1 (B) 3' - 5' Tgfeees Tfdafafy gra
(C) 5" - 3 tSfwiey nfafafy g (D) 3' - 5" EHfaaws wfafafy gw

FivEe 4 R g @i, s o= tfrede SifvEmel @ smdes €, 5% we W

?
(A) s (B) THAMMEREEE
(©) R D) ffes
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19. Cybrids can be produced by fusion of :
(A) two cytoplasts

(B) a cell containing full nuclear genome and another cell containing partial

nuclear genome
(C) two cells that contain full nuclear geﬁomes
(D) a cell that contains nuclear genome with a cytoplast
20. Which of the following is not a measure of dispersion and variability ?
(A) Range (B) Variance
(C) | Standard deviation (D) Mean E
21. Water potential of pure water at atmospheric pressure is :
(A) -2.3 bar (B) +2.3 bar

(C) Zero bar (D) One bar

T.B.C. : 03/17/ET—II 14



19.

20

21.

wEfoe #1 fe1 & Heed g sefed e ST g ¥
(A) .3‘1 cytoplasts

(B) T wifyren fomd gof sy M @ iR uw iy oA erifver e

ST g &
(C) & wifymel fod gof s sHm @ &
(D) U HyEE el waEm) SiAm @ cytoplast Bl @

fr=1 ® @ Fia e (dispersion) 3R uftadayiieral (variability) 1 T 3™ CEil

T ?

(A) I (Range) (B) fa=wl (Variance)
(C) e fo=er (Standard deviation) (D) Wi (Mean)
qgHSH O § Y& YA Rl Wl &HaT Bt ¥ s

(A) -2.3 SR (B) +2.3 @R

(C) YF 9K D) TH TR
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22.

23.

24.

Immunogold technique is used for :

(A) labelling of tissues with gold particles bound to specific antibodies
(B) labelling of tissues with antigens bound of gold particles

(C) injecting of gold particles in the cells along with antigens

(D) injecting of gold particles in the cells along with antibodies

In mutation of which of the following gene, flower is composed only of sepals

and petéls 2
(A) AGAMOUS (B) BABYBOOM
(C) FIE (D) FIS

Which of the following is a plant specific protein ?

(A) Collagen (B) Actin

(C) Rubisco (D) Histones

T.B.C. : 03/17/ET—II 16



22.

23.

24.

Immunogold T&i® F IwEM f= % fag 2 # :

@) m@mgwmamammﬁm

(B) €1 % HUi ¥ S yfasHi (antibodies) & WY Ak H Qs

(C) wigsHi & @y FfyEed § 99 & &0l &1 S9vH

(D) @ﬁ%mwlmﬁﬁ;ﬁ%%mmm
ﬁnﬁf@aﬁ?ﬁﬁmmﬁaﬁqﬁ,'wﬁamaﬂtﬁq@%m%:
(A) AGAMOUS (B) BABYBOOM

(C) FIE | (D) FIS

e 8 @ = G w1 faftre 9 ¥ 2

(A) hIeTe (B) ufeRA

(C) Rubisco . (D) fe=m
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25.  During germination of barely seeds, enzymes for mobilization of reserve material

to embryo are secreted from :

(A)

Nucellus (B) Embryo

(C) Aleurone layer (D) Embryonic leaves

96. Which of the following is not true for pseudogenes ?

(A)

(B)

(&)

(D)

They generally lack introns

They are derived from mRNA by reverse transcription

They are also called defunct genes

Their function is conserved across species

27.  Glycerol is added to nucleic acid samples for agarose gel electrophoresis because

) §

(A)

(B)

(C)

(D)

binds to nucleic acids and stabilizes them

provides charge to the nucleic acids

increase the density of the solution

prevents degradation of nucleic acids by inhibiting activity of nucleases

T.B.C. : 03/17/ET—II 18



25.

26.

27.

<t oS & i & IRM, YU B RiET W SR % fau temw wE @ em
£ ' |

(A) Nucellus (B) Y

(C) Aleurone 9% (D) 9m F T

7= # | pseudogenes & fow = wEt W& T ?

(A) 3T 9 dR W intron 7@l Bl

(B) 3 fad TafFem o AR | wa Bh §

(C) 3% ¥a = ft F&r 5w ¥

(D) T & wenfadl § e ¥

frerata agamse@a'aqgﬁmﬁw%mmm samplest;imm
T wHife gz

(A) s ufge H Siva & iR 3 fer wwa ®

(B) —f¥d ufge & fAU charge W&H &l @

(C) Eig & o7 9¢ Sl

(D) freras 1 =en Tfafafy @m e dee & e #:2 dwa §

TB.C. : 03/17/ET—II 19 PT.O.



28.

29.

30.

Which of the following groups comprises a combination of naturally occurring

growth regulators ?

(A) 2, 4-D, NAA, ABA, Brassinosteroids
(B) BA, GA3, TAA, NAA

(C) 2, 4-D, NAA, IAA, ABA

(D) Brassinosteroids, IAA, GA,, Zeatin

Two component signaling mechanism does not occur in :

(A) Cytokinin signaling (B) Ethylene signaling

(C) Phytochrome signaling (D) Auxin signaling

Which of the following statements is not correct for C; pathway :
(A) The initial acceptor of CO, is phosphoenolpyruvate

(B) They have low CO, compensation point than Cg plants

(C) C,4 plants are less efficient in CO, fixation than Cj plants

(D) Phosphoenolpyruvate carboxylase has higher affinity for COy than

ribulose 1, 5-bisphosphate carboxylase

T.B.C. : 03/17/ET—II ' 20



28.

29.

30.

= wpd § @ S g wfas ®9 8 8 el gfs FrEmw & s geee
L

(A) 2, 491, T, wm (B) sy, Sfig,;, €U, TiUg

(C) 2, 4-¥1, TAWE, EUY, TN (D) wfER=AEeq, SEuE, Sy, farfe
< e fgmfem @3 d 98 48 A ®

(A) Wi farfer (B) 3ol fefem

(C) wzemnm famfem (D) iR famafem

fr § ¥ s FoF C, Al & foag w&lt ¥ 2

~ (A) CO, % 9Rf9e wWiwd phosphoenolpyruvate (3

(B) %ﬁ‘rﬁﬁmﬁﬁcozﬁgmaﬂ%
(C) C, Wd C, e &t go # CO, Frowr F om0 g @

(D) HEREAETERae Hirres ® R 1, 5-fFawehe wEs 8§ CO,

¥ fou sifvs woma ®
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31. Teeth of sharks and teleosts are :
(A) Heterodont ; (B) Thecodont
(C) Pleurodont (D) Acrodont

32. In the ornithine cycle, carbon dioxide and ammonia are used for the synthesis

of :
(A) wurea | (B)' uric acid
(C) bilirubin (D) creatinine

33. Blood pressure is highest in :
(A) pulmonary vein (B) pulmonary artery
(C) systemic artery (D) systemic vein
34. The age of pyramid with broad base indicates :
(A) low percentage of young individuals
(B) high perf:en'tage of old individuals
(C) low percentage of old individuals

(D) high percentage of young individuals

T.B.C. : 03/17/ET—II 22



31.

32.

33.

34.

i 3R eheE ¥ g oA ¥ 2
(A) feetiEie (B) fa=iEie (Thecodont)
(C) wgUERE (Pleurodont) D) TEE=

AT = #, wEd SrEeisaEe iR smif s dvown & fau sedm e

% 2
(A) I B) IF wfEs
(C) Tafersfam (D) fwufefa

W fFad 9ol afus § 2

(A) FEpdE T § (B) TEpEE uTH

(C) woreT A (D) wome e = A

9F AYR T ffge &1 oy @ o ¥ 2
~(A)garraﬁvﬁm°rm1wﬁravrercn (B) sg @it ®t s= Wi

(C) 98 &rlt &t A wferaa (D) I =fFE F3=9 yfavam
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35.

36.

. 37.

38.

Sickle cell disease illustrates the :

(A) dominance (B) incompléte dominance
(C) multiple pairing (D) recessiveness
Valsava manouver during heavy weight lifting :

(A) increases'venous return

(B) reduces venous return

(C) increases pressure in the right ventricle

~ (D) decreases pressure in the left ventricle

Biologically the most active form of thyroid hormone is :
(A) Tri-Iodothyronine (B) Di-Iodotyrosine
(C) Tetra-Iodothyronine (D) Tri-Iodotyrosine

In a population with two alleles ‘@’ and b’ of a genotype in a ratio of 0.2
and 0.8 in Hardy-Weinberg equilibrium, how many individuals in a sample

of 300 can be expected to be homozygous for allele ‘@’ ?

(A) 192 (B) 12

(C) 64 (D) 96

T.B.C. : 03/17/ET—II 24




35.

- 36.

- 37,

38.

ﬁﬁrﬁ A W A ya T €

(A) T (B) o1 Wy

(C) Ui el (D) T&fEETE (recessiveness)

It g9 IIH H aNH am‘ T

(A) fms It &1 Fe @ ©

(B) TR @modt #1 %9 w1 ¥

() =i sfewa é TEE I FEl <l ®

(D) =t dfrFa § o F HW F IO
a@ﬁﬁwm@‘mzﬁqmwﬁmm%:

(A) TE-emgesdfE (Tri-Todothyronine)

(B) SE-2mgeeEifad (Di-lodotyrosine)

(C) -sTEEIAEUfH (Tetra-Iodothyronine)

(D) TE-EEREAMET (Tri-lodotyrosine)

TrEl-aen! Tqem § 0.2 3R 0.8 F ua § SRRy & 4 udew ‘v oeiw ‘et
a1 el A, 300 % TH T # ey AfFEd @ weia ‘v & faw g 2
F1 ST S FEA C 2

(A) 192 (B) 12

(©) 64 D) 96
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39.

40.

41.

42.

Which of the following peptides stimulates appetite ?
(A) Secretin (B) Somatostatin
(C) Gastrin (D) Ghrelin

If a protein is poorly expressed in a diseased tissue, then which of the following
blotting methods will be used to determine whether the defect is at the level

of transcription or translation ?

(A) Southern : (B) Southern and Northern
(C) Northern and Western (D) Western

Male cats are either black or orange in colour because they are :
(A) hemizygous for X-linked colour éene

(B) heterozygous for X-linked colour gene

(C) hemizygous for Y-linked colour gene

(D) heterozygous for X-linked colour gene

Insulin promotes entry of glucose into :

(A) renal tubules (B) neurons

(C) skeletal muscle cells (D) the mucosa of the small intestine

T.B.C. : 03/17/ET—II 26




39, frefafeag Yegegg 4 § FH-T Y@ # S|foad w3 ¢ 7
(A) THfeA (Secretin) (B) WWerefea (Somatostatin)
(C) WfEd (Gastrin) (D) Weffe™ (Ghrelin)

40. Ffc fordt I Faw H TE WA B0 9 4 e S o g, @ e d 3
FH o sarfen fafesl = swEm 37 fHuifte w0 & fou fe smom 6 S sfaees
I PR H W W R A A ?

(A) Ol (Southern)
(B) <famit 3R St (Southern and Northern)
(C) 3wmdt 3R ufy=d (Northern and Western)
(D) wufe=Hl (Western)

41, R fofeerdl =1 @ ®en T A0 B ¥ HiE 3
(A) wrE-fige G i % fog e ¥
(B) w-foige i ¥ & fau foumgra €
(C) wi-foee Tiw v & fog fesmrw §
(D) uwe-foge T M & fag fowmgra B

42. sgfem fred oS % EY H oSgE Al € 2
(A) T8 i Afcwed | (B) =R ¥

(C) <heprel ht TR Hifyrprell # (D) B A Ht Tordad H

T.B.C. : 03/17/ET—II | 27 P.T.O.



43.

44,

45.

46.

The replacement of species along a gradient of habitat or communities is

called :
(A) Alpha diversity (B) Beta diversity
(C) Gamma diversity (D) Kappa diversity

How many molecules of NaCl will be present in 100 ul of its 10719 M solution ?
(A) 6.022 x 10° (B) 6.022 x 10!

(C) 6.022 x 103 D) 6.022 x 10%

Inactivation of one X chromoéomes in female mammals is an example of :
(A) Epigenetics (B) Sex-linked inheritance

(C) Autosomal dominance (D) Translational control

The wings of birds and bats are :

(A) analogous and represent divergent evolution

(B) analogous and represent convergent evolution

(C) homologous and represent divergent evolution

(D) homologous and represent convergent evolution

T.B.C. : 03/17/ET—II 28



43. Wmv@%m%mﬁwﬁﬁ%maﬁwa@m%?
(A) sow fafava (B) e fafawa
(C) T fafaerm (D) o Fafers

44, NaCl & fead @10 389 10710 M ¥ & 100 pl § Sufesrm & 2
(A) 6.022 x 107 (B) 6.022 x 10!
(C) 6.022 x 1013 | (D) 6.022 x 10%

45, 1 WAYTE § UE e s # fAfsEE e w=em © o
(A) TtfusHfess (Epigenetics) (B) =9 ¥ TS GvIIHEA
(C) SEEme I9E (D) T fEsm

46. uferdl iR TGS & U@
(A) Wmﬁﬁﬁammwﬁﬁﬁ}ram%
(B) arqey iR sifugeo fawm =1 wfaffae #@ €
(C) wafaer i fadfsa fawm w1 wfaffee =@ @

(D) Farfaes iR sifrao fawm w1 wfaffae #@ €

T.B.C. : 03/17/ET—II = 29 BTO.



47.  When blood levels of glucose, amino acids and insulin are high and glycogenesis

is occuring in the liver, then state of body is referred to as :
(A) fasting (B) absorptive
(C) stress (D) bulimic post absorptive
48. ‘Which of the following is an endangered bird species ?
(A) Hill myna .(B) Great Indian bustard
(C) Grey hornbill | (Dj Sparrow
49. The Beer Lambert law governs :
(A) Spectrophotometry (B) Immunoblotting
(C) ELISA (D) RIA
50. Which one of the following shows ‘super-gréenhouse effect’ ?

(A) Nitrous oxide (B) Carbon monoxide

(C) Methane (D) Water vapour

T.B.C. : 03/17/ET—II - 30



47, m@awmw,mﬁmﬁﬁéﬁfﬂqﬁ@m%aﬁtmﬁmﬁn
@m%,mvﬁaﬁmﬁﬁwmﬁaﬁ%%mm%:
(A) 39 (B) 3ravieeR
(C) W= (D) HfAfHF (bulimic) TR HELH
48. fm= # F FAE gavE velt wonfa ¥ 2
A) fea v (B) U2 WRdE w2
() 3 s D) fafem
49. R W @ fewd wfed @ ' 2
(A) TERTRRHAS (B) =R (Immunoblotting)
(C) qfe™ (ELISA) D) & (RIA)
50. ﬁwﬁﬁeﬁhmgm—mn#ﬁﬁ@m% ?
(A) HIEZE AFEES (B) w4 HHISTFEEES
(C). e (D) S 3y
T.B.C. : 03/17/ET—II | 31 P.T.O.



